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The Correction of the Second rm Examinat ion of  Ens l ish
Part One : Compreh€nsion

l -  Givc an appropriâte t i t le lo thc text.
PolJ)meric tfiateiols

2- Are the fol lowing sentences truc or fâlse? Correct the lalse ones
â- Plastic wàstes remâin in the environment due to fheir resistânce to

environmental degl.adâti()n.
True

( lp t )

(l pt)
b- Plâstic wâstes do not pollufe the environment.

Fûbs (0,5pts), Plastic r46tes pollute the enpironment,
c- T he impressive amount oT plastic goods moved away in

obliges to make strong efforts to el iminâte thcm,
True (lpt)

3- Answ€r the tbl lowing qucstion according to the text.
a- What are fhe dif lerent dpproâches which have been tâken into consideration

to pr€servc enliro| lmcnt?

The different appro ches y'hicl1 hive been taken into consi.lerdtion to
preserve environmeht arc: rec),cling, recowr.ti of mtter, recorler! of enery)j,
biodegrarlibiliry of pol.ymer:- tnl use of plustic tNîstes as fiodifierc in .r'ph.'tts and bilumeh.

' l -  F i I d  i n  t he  t c \ t  s \  non \  ms  o f  t he  l o l l ow ing  words

(0.5pts)
the €nvironment

(0.5pts)

(0.5pts)

(3pts)

(apts)

(0.5pts)/ b-sprinkled = dispersed
5- Find in the fext opposites of the fol lowing words

a- Weâk + J//"drg (0.Spts)./ b-increâse + decrease

Pârt Two : Mâster) ol Lânguage

l- Put the verbs betwecn brâckets into the correct form.
a- TonJ morJed tohis homc torvn in 1994.
h- Look! Lina À eofug rr, thc mo\ ic\,
c- I  hâve rro.r,[e.1the câr. l t  lool is lovel].

2- Make reported specch
â- Dominic: , ,shc uoderstînds Jtipan(jse".

Domiûic said thot \h? uûlcrshol ,lapa ese,
b- James and David: , .we htvc to go now',

James unl l)avid soi.l thot theJ, hû.1to go then.
c- Harmer: "I went fo tbc cinemn yesterdty', .

Horner saial thfit he hud gone to the cinemi the prerious (la!/ the
d- Strrâb: ,, i t  is ven,cold, '

à- Stàt =remûin
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diJ) beJbrc.



, | Ê,_

Samh sqys lhat it is eery cold,
3- Sây wh€ther thesc senlences are true or fâlse .Correct the false on€s. I !

a- The letter combination g/, is si lent in t 'he lol lowing word: eight. trùe ( lpf)
b- We use t.caE" to express permission in the present ând the past.

Fo&e (0.5ptô) . We use can to express pemission in the prcsent and not in the
. past, Or we use can to exprcss permissiorl in the prcsent and could i the pasL

(0.5pts)

Part Three: Fill io the gaps with the following words: in, human-made, of, yariety, that,
polymeric (4pts)

!!!. In the above Iist, there âre fwo ryords which will not be used in this pâragrâph.

Synthetic polvnrers càn cofttr in â \,âriet l  of tbrms, such às comnr0n pl:rst ics, the nvlon
ofâ jackct, or thc surfâct ofr non-sticl i  l iying pân, but thcse humân-mâdc materi. ls
h:rve â detrimental irnpact on ecosysten]s rr hich lJ.S. Nâtionâl Insti tute of Hentth
researchers hâve called , 'a rapidly increasing,long-term threat. 'r  l lndcrstanding the
waysJhâl svnthefic polymers degrâde ecosvstems is importânt in tâking steps to
eliminâte this lblm of pollut ion.
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